
1

USER  MANUAL

C.I.S. MTB STEM TECHNICAL MANUAL Version 1  |  21.11.2022

EN	 INSTRUCTIONS FOR CABLE ROUTING, HEADSET, STEM
DE	 ANLEITUNG FÜR KABELFÜHRUNG, STEUERSATZ, VORBAU
FR	 INSTRUCTIONS POUR LE CÂBLAGE, JEU DE DIRECTION, POTENCE
ES	 INSTRUCCIONES PARA EL TENDIDO DE CABLES, EL JUEGO DE DIRECCIÓN, LA POTENCIA
IT	 ISTRUZIONI PER PASSAGGIO DEI CAVI, ATTACCO MANUBRIO, PIANTONE
NL	 INSTRUCTIONS FOR CABLE ROUTING, HEADSET, STEM

C.I.S. MTB STEM
C.I.S. MTB VORBAU
POTENCE MTB C.I.S.
POTENCIA C.I.S. MTB
PIANTONE PER MTB C.I.S.
C.I.S. MTB STEM



2C.I.S. MTB STEM TECHNICAL MANUAL

C.I.S. MTB STEM
C.I.S. MTB VORBAU
POTENCE MTB C.I.S.
POTENCIA C.I.S. MTB
PIANTONE PER MTB C.I.S.
C.I.S. MTB STEM



3

FRONT BRAKE

C.I.S. MTB STEM TECHNICAL MANUAL

EN 

DE
  
FR

ES

IT

NL	

Route the cables through the frame like on the picture.
 
Verlege die Züge durch den Rahmen wie auf dem Bild.

Passer les câbles dans le cadre comme indiqué dans la figure. 

Guíe los cables por el cuadro como en la imagen. 

Far passare i cavi attraverso il telaio come mostrato in figura. 

Voer de kabels door het frame zoals op de foto.

1



4

EN
 
DE  

FR

ES

IT

NL	

Headset assembly

Steuersatz-Montage

Assemblage du casque

Montaje de auriculares

Montaggio della cuffia

Headset montage

HEADSET SEALING

HEADSET SEALING

BEARING

BEARING

ANGLE CUP

ANGLE CUP

C.I.S. MTB STEM TECHNICAL MANUAL

2



5

STEEP HEAD ANGLE

SLACK HEAD ANGLE

BACK

FRONT

EN
 

DE  

FR

ES

IT

NL	

The markings on the bearing cups must point in
the opposite direction.

Die Markierungen auf den Lagerschalen müssen in
entgegengesetzte Richtungen zeigen.

Les marquages ​​sur les coussinets doivent pointer 
dans des directions opposées.

Las marcas en los semicojinetes deben apuntar 
en direcciones opuestas.

Le marcature sui semicuscinetti devono essere 
rivolte in direzioni opposte.

De markeringen op de lagerschalen moeten in 
tegengestelde richting wijzen.

C.I.S. MTB STEM TECHNICAL MANUAL

3



6

4

FRONT BRAKE

C.I.S. MTB STEM TECHNICAL MANUAL

EN 

DE  

FR

ES

IT

NL	

Assemble headset cover, spacer, cable cover 
and stem in this order.

Montiere das Steuersatz-Cover, die Spacer, das Kabel-
Cover und den Vorbau in der gezeigten Reihenfolge. 

Monter le chapeau de potence, l’espaceur, le cache du 
câble et la potence dans l’ordre indiqué.
 
Monte la cubierta del juego de dirección, el espaciador, 
la cubierta del cable y la potencia en este orden.

Montare copertura attacco manubrio, distanziale, 
copricavi e piantone in questo ordine.

Monteer headset-afdekking, afstandhouder,
kabelafdekking en stuurpen in deze volgorde.



7

4

2-3 NM

6NM

6NM

C.I.S. MTB STEM TECHNICAL MANUAL

EN 

DE  

FR

ES

IT

NL	

Assemble headset cover, spacer, cable cover 
and stem in this order.

Montiere das Steuersatz-Cover, die Spacer, das Kabel-
Cover und den Vorbau in der gezeigten Reihenfolge. 

Monter le chapeau de potence, l’espaceur, le cache du 
câble et la potence dans l’ordre indiqué.
 
Monte la cubierta del juego de dirección, el espaciador, 
la cubierta del cable y la potencia en este orden.

Montare copertura attacco manubrio, distanziale, 
copricavi e piantone in questo ordine.

Monteer headset-afdekking, afstandhouder,
kabelafdekking en stuurpen in deze volgorde.



8C.I.S. MTB STEM TECHNICAL MANUAL



9C.I.S. MTB STEM TECHNICAL MANUAL



10C.I.S. MTB STEM TECHNICAL MANUAL

IS52 Headset cover - integrated cable routing
Acros Item Number. 24.52.113-OD56-AM

EN 

DE 	

FR

ES

IT

NL

If you want to ride a regular stem you
can change the Headset Bearingcap.
Addionally you need regular round 
spacers.

Falls du mit einem üblichen Vorbau 
fahren möchtest, kannst du den 
Steuersatz-Lagerdeckel tauschen. 
Zusätzlich brauchst du dann normale 
runde Spacer.

Si vous souhaitez utiliser une potence 
classique, vous pouvez remplacer le 
chapeau de palier du jeu de direction.
De plus, vous aurez besoin d’espa-
ceurs ronds classiques.. 

Si quiere montar una potencia 
normal puede cambiar la tapa del 
rodamiento del juego de dirección.
Además, se necesitan separadores 
redondos normales.

Se si desidera un piantone standard,
è possibile modificare il cappello del 
cuscinetto dell’attacco manubrio.
Occorrono inoltre distanziatori tondi 
standard.

Als je op een gewone stuurpen wilt 
rijden, kun je de headset lagerkap 
vervangen. Bovendien heb je gewone 
ronde afstandhouders nodig.



11C.I.S. MTB STEM TECHNICAL MANUAL

ACE MTB STEM 60 MM WITH SCREWS (2 x M5 x 18)

REARCOVER + AHEAD CAP + SCREW (M6 x 35), COUNTERSINK

SPACER SET 5 MM

SPACER SET 10 MM

CABLE HOLDER FOR ACE STEM 60 MM

FACE PLATE WITH SCREWS (2 x M5 x 18)

COMPUTER MOUNT SET GARMIN & WAHOO

BEARING CAP

1

2

3

4

5

6

7

8

EN 



12C.I.S. MTB STEM TECHNICAL MANUAL

ACE MTB VORBAU 60 MM MIT SCHRAUBEN (2 x M5 x 18)

REARCOVER + AHEAD CAP + SCHRAUBE (M6 x 35), SENKKOPF

SPACER SET 5 MM

SPACER SET 10 MM

KABELHALTER FÜR ACE VORBAU 60 MM

FACE PLATE MIT SCHRAUBEN (2 x M5 x 18)

COMPUTER-HALTERUNG GARMIN & WAHOO

STEUERSATZ-KAPPE

1

2

3

4

5

6

7

8

DE 



13C.I.S. MTB STEM TECHNICAL MANUAL

POTENCE MTB ACE 60 MM AVEC VIS (2 x M5 x 18)

CHAPEAU ARRIÈRE + CHAPEAU AVANT + VIS (M6 x 35), FRAISÉE

JEU D’ESPACEURS 5 MM

JEU D’ESPACEURS 10 MM

SUPPORT DE CÂBLE POUR POTENCE ACE 60 MM

PLAQUE FRONTALE AVEC VIS (2 x M5 x 18)

KIT D’INSTALLATION D’ORDINATEUR GARMIN ET WAHOO

CHAPEAU DE PALIER

1

2

3

4

5

6

7

8

FR



14C.I.S. MTB STEM TECHNICAL MANUAL

POTENCIA ACE MTB 60 MM CON TORNILLOS (2 x M5 x 18)

CUBIERTA TRASERA + TAPÓN DELANTERO + 
TORNILLO (M6 X 35),  AVELLANADO

JUEGO DE ESPACIADORES 5 MM

JUEGO DE ESPACIADORES 10 MM

SOPORTE DE CABLE PARA POTENCIA ACE 60 MM

PLACA FRONTAL CON TORNILLOS (2 x M5 x 18)

JUEGO DE MONTAJE PARA ORDENADOR GARMIN Y WAHOO

TAPA DE RODAMIENTO

1

2

3

4

5

6

7

8

ES



15C.I.S. MTB STEM TECHNICAL MANUAL

PIANTONE PER BICI DA MTB ACE 60 MM CON VITI  (2 x M5 x 18)

COPERTURA POSTERIORE+ CAPPUCCIO ANTERIORE + 
VITE (M6 x 35), SVASATURA

SET DISTANZIALI 5 MM

SET DISTANZIALI 10 MM

PORTACAVI PER PIANTONE ACE 60 MM

FRONTALINO CON VITI (2 x M5 x 18)

SET SUPPORTI PER COMPUTER GARMIN & WAHOO

CAPPELLO CUSCINETTO

1

2

3

4

5

6

7

8

IT



16C.I.S. MTB STEM TECHNICAL MANUAL

ACE MTB STUURPEN 60 MM MET SCHROEVENDRAAIERS (2 x M5 x 18)

ACHTERCOVER + AHEAD DOP + SCHROEF (M6 x 35), VERZONKEN

AFSTANDHOUDER SET 5 MM

AFSTANDHOUDER SET 10 MM

KABELHOUDER VOOR ACE STUURPEN 60 MM

FRONTPLAAT MET SCHROEVEN (2 x M5 x 18)

COMPUTER MONTAGE SET GARMIN & WAHOO

LAGERKAP

1

2

3

4

5

6

7

8

NL



17C.I.S. MTB STEM TECHNICAL MANUAL
www.focus-bikes.com

Legal Base:

Kalkhoff Werke GmbH
Europa-Allee 26
49685 Emstek
Germany

FOCUS BIKES
Rotenwaldstraße 158
70197 Stuttgart
Germany 

Telefon: +49 (0)4473 9317-0

E-Mail: info@focus-bikes.com
www.focus-bikes.com

EN	 Subject to misprints, errors and 
	 technical alterations.

DE	 Druckfehler, Irrtümer und technische 
	 Änderungen vorbehalten.

FR	 Sous réserve d‘erreurs d‘impression, d‘erreurs 
	 et de modifications techniques.

ES	 Sujeto a posibles erratas, errores y 
	 modificaciones técnicas.

IT	 Con riserva di errori, refusi e 
	 modifiche tecniche.

NL	 Onder voorbehoud van drukfouten, 
	 fouten en technische wijzigingen.


